. Total number of printec‘iq pages-31
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COMMERCE
| | (Regular Eiéctive)
Answer the Questions from any nné‘ Option.
" OPTION-#& '~ -
' (Advertis:ng ) L
Paper COM—RE 6016

"~ OPTION - -B |
N Banking )
Paper : COM-RE- 6026

OPTION - C
( Management Accounting )
Paper : COM-RE-6036
- Full Marks': 80
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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OPTION-A
(Advertising )

Paper : COM-RE-6016

1. Answer the following questions as directed :
1x10=10

el TCo O EHEIRT Ted Bl 2

(@) An advertising copy that uses the
endorsement of a satisfied customer is

BT A GGHE 7 e Rearsing 2
=
(i) comparative copy
g dfsfers
(ii) reminder copy
Gk fSfr
(iii) expository copy
PRI eifsfHy -
(iv) testimonial copy
epeieANET elfofeis)
(Choose the correct answer)
(vm Y&l qife Sfeean)

4 (Sem-6/CBCS) RE 1/2/3/G 2

|

(b) The total coverage by television and
radio of a given geographic area is

Wmﬁmimﬁmaﬁﬁﬂﬁa

IR (R
(i) blank coverage
. T e
() blanket coverage
R ST
(tii) zero coverage
(iv) national coverage
SISERE
(Choose the correct answer)
(g el ik Cfedr)

(c) The first advertising agency of India was
RS AW Relom Aozl @it
(i) The Indian Society of Advertisers -
(i) B. Dattaram & Co.
(i) Calcutta Advertisihg Agency
(iv) The National Advertising Service

(Choose the correct answer)

(v TeD) Ak Tlee)

4 (Sem-6/CBCS)RE 1/2/3/G 3 Contd.



(d)

G1v1ng reward to customer for ~using

- the same product or semce regulal'ly

is called

| ',.mmﬁaﬂmﬁwmﬁz@wmw

i) cash back

\Wmamawwm

(i) - coupon v
R
(i) ’disc!ou'nt.:1

CEEY

o ﬂvfct

(iv) . patronage dlscount
TS (3R

_‘ ;(Choose the correct answer)

(va Toai kR Gfered)

' Advert1smg budget method which

depends upon company s capacity to
spend is

A T PR =131 @vive fofes R
AT 3R [t s tgm

(i expert opinion method

Rerwe s sigfy

4(8em—6/CBCS) RE1/2/3/G 4

()

(h)

. (i) . affordable method

mfaawwf%

| (zu) percentage of sales method

RET oo o=fS

' (iv) return’in investment method |

- RRcR edite are.mfS
E (Choose the correct answer)

- (9% TeRbr R Bevear)

-Advertising bnngs the p‘roduc_t to the
attentxon of potential

(Flll in the blank) -

Aﬁwmmﬁaa%m__q@w«m

(#fa?év?mwr)

;7 is known as the father of

‘modern advert1s1ng. (Fill in the blank)
L o Reeteins o ot we T |

(T 31Z =39 )

Circulars and leaflets are the examples
of press media advertising.
(State whether true or false)

W@WWWWQ@NWWWM
(Wmﬁ@fﬁﬁlr)

 4(Sem-6/CBCS)RE1/2/3)G 5 Contd.
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(i) B111boards are large structures located in
* public places which display advertisements

to passmg pedestnans and motorists.
(State whether true. or false)

BTG T AR G i S5 6T R |

‘Wmmwwwvmmn

‘ (ﬁwwﬁwﬁw) |
- G) ,erte the full form of AIDA in

' marketlng _
: W‘T‘ AIDA?‘PN%?’ET’W%"IH

. Write very short answers to the. followmg
questions @ | - 2x5=10

(a) What is mural advertising ?

o foa R Ry

(b} Mention two negatwe aspects of

- advertising. |
Reatet 207 @S fied T w4t

(c) .Wha't is print advertisement ? o

el REem e
(d); What is advertising budget ?
- R At Ry

4 (Sem-6/CBCS) RE 1/2/3/G - 6

(e What is. ‘advertisement ‘effectiveneSS’? .

Answer brleﬂy any four of the followmg

questions ': - Sx4= 20

N l"

- ﬁtﬁwﬁmamﬁ?fmsq%mﬁm

(@) Write ‘the dlfferences between
advertising and pubhc1ty

ﬁmvmmawmmmwm:

(b)) What is celebnty advertlsmg‘r’ Give

' example

ORI ﬁwm% %wr@qﬁmu

() What is audience analys1s in
- advertising ? Explain.

'ﬁwﬂa"mﬁmmmﬁvwwn

(d) What are the advantages of internet
advertising ? . -

Wﬁwmﬂﬁwﬁsﬁs?

fe) What do you think by the need of
- ethical aspects in adverti'sing° Explain.

o axmaan
4 (Sem-6/CBCSRE 1/2/3/G 7 o Contd.



(é) Write the meaning of advertising agency

" () ° Mention briefly different ‘types of - ~ and discuss the role played by it in
. advertising media: - ' advertlsmg ' o 5+5=10 -
ﬁwwﬁﬁmmeWl | | ﬁwvlaﬂwmfﬁmmﬁwmmi
| - 4. Answer any four of the followmg questions :’ .
. = 10x4=40 () State and.explain’ vanous objectives of.
ﬁtﬁf@ ﬁﬁimf Flﬁf‘)‘ ﬁ‘Sﬁ %@ GRS ‘ o . advertising. . :

‘ (a) ‘What 1s advertls1ng'> What is | . ﬁm"ﬂa ffen WWWWWI
commumcatlon m advertlsmg'> v |

446=10 (9) What is advertlslng media ? What

: factors are taken into consideration

ﬁW”F“ﬁ‘ ? ﬁ@f"m @1‘311?311‘»1 {ﬁ?ﬁ ﬁ‘i@ﬁ 2 - while selecting advertising media ?

-~ Explain. - 3+7=10

(b) What is adverusmg copy° D1scuss the -
unportance of -advertising copy. 4+6 10

Reein st & ?,ﬁmﬂaﬁﬁwwwmwmu

Reisir T A & 2 Resi T |
FRICS PRGN SoAm ReToet I eTTal 2 2
: o RIS

(c) Discuss the benefits and disadvantages'

of advertising from consumer -point of - (h) What is advertising appeal ? Discuss

B view. with examples: ‘ . 4+6=10
BotreTE mqawﬁww r—— Rt E"C”'ﬁ” IR B o
SRUPRR SIS i

(d)’. What is advertisement audit? How is

it used in meaSurmg advertising
effectlveness ? 5+5=10
R #1305 2 R zeerengor Figfed
IR R < 1 2 2

4 (Sem-6/CBCS)RE 1/2/3/G 9 - - Contd.
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'OPTION=B o - (iii) through the fixed deposit account

(Banking) | - oo fovR sl
- _Paper : COM- RE#-602.6 o . iv) All of the above -
1_.. | Chbose the cor‘rect answer:: . 1x10=10" | | o ew wﬁﬁcﬁﬁf
@ﬁ . MR St A e (c) The relationship between banker and -
(@) In which year commerc1a1 banks were | . customeris’ -
_nationalised in India fer the first time ? { @R R W Bl w;,e za
T oA [m i ||g” QN HSJ'SR ' . @) thatofa debtor and- credltor
‘ 'Wq@k%? | : . CRME iR SRR

i) 1960 (m\\ao) o :’ :

G - (i) that of a credltor and debtor
(i) 1969 (b;egze) SR |

eoe 1 . b : ) 4. . ' )

() -1932 (3 Q.) ‘ . ' (iii) pnmanly that of debtor and credxtor

i) 1991 (383) I | RS RN W% SGATE

(b) Ov¢rdrafts are granted - (iv) None of the above ‘

s 4 = | | . eR e T

fi) . through the savings depos1t | (d) Incaseof negotiable instruments which
account : | " person generally gets a good title?
el o R s | <O o (R (e R RS

(i) through the current deposit | | T AT Rt Retos 3 2 |
account ] " (i) Finder of the lost instrument

,Fﬁwwﬁm@ﬁw R o (ARt o (Rt I

4(Sem 6/CBCS)RE1/2/3/G 10 . " : [ 4(Sem-6/CBCS)RE1/2/3/G 11 - " Contd.




(u} ‘Holder of stolen- instrument
PR iR e
(i) Holder in due Gm_.uise :
WS 9
. (w) None of the above

@ nﬂﬁem

(e) The . pnnc1ple ‘of investment include |
R R fm% oo |
.0 safety '
(i) liquidity
" (i) profitability
(iv) All of the above
| SR B!

() In which year State Bank of India was:

established ?

S 35 e o o o ¢
(i) 1921 (583))

(i) 1934 (5»98)

| “4(Sem-6/CBCS)RE1/2/3/G 12

) 1055 (s8¢)
(iv) ,1969‘(5_&@:3)

'(g) Garnishee order is issued by

() the banker

(ii) - customer of fhe"‘be;mk
- (i) the coﬁrt' <
| (iv) None ;)f tﬁe'ébovéj‘ |
"o QI B R

(h A cheque wh1ch is not crossed is called
open cheque. '

R T R 'm@mi@ 0|

ij True
%3’4‘1.
(i) False
TR

4 (Sem-6/CBCS) RE1/2/3/G 13 .  Contd.



« A . - .
or-can open an account in his/

her name without t}
, et W ut the name of =
- guardian.” The statement-is o

WWWWWWW

ot 3R A %%c‘m

_(il" correct - . - )
.oy . '

(i) - incorrect

B T

Which of the‘_,.fel_l'o‘.wing is no't;a

negotiable instrument under the
Negotlable Instrument Act, 1881 ?-

| RGN i Wi, wvwwaﬂﬁ R

l@mﬁﬂ g =
(z) BlllS of Exchange
R 2@

(i) Promissory Note

o

(iii) Traveller’s Cheque

Eﬂ%@ﬂzﬁrf

~(iv) Cheque

L™

| '4(Sem-6/CBCS)REl/2/3/G 14

. ‘Answer the followmg quesuons

9x5=10 .
wmmm

(a) What is public ‘sector ba.nk'P |

Al 183 @%ﬁsnmﬁw

«(b) Who are the spemal type of bank

Acustomers ?
s e AN @Iﬂ@ﬁ >
(c) Write two features of cheque

(d) What do you mean by know your

.customer ?

Know your customer ‘SIT(R ﬁ? i@T ?
(e) 'What is the meaning of paymg banker ?
,»ﬁw«ﬁ R T

Answer any four of the followmg (in about
200 words each) 5x4=20

'~‘ﬁkﬁﬂ?ﬁ%amanvﬁ%Wwﬁwa%@aﬁﬁm (afﬁﬁrzonﬁtf
- *q f5oT9) | :

(a) Discuss the procedure of opemng ofa
bank account in the name of an

illiterate person.

!ﬂﬁﬁ$5ﬂﬁp§Cﬁm—(ﬁqssﬁbwi@mmavmﬁ>
GIEEGN A |
4(Sem-6/CBCS)REl/2/3/C 15 _: ;f Contd.



e

| "(c)'

| (d)

(€.

D1st1ngmsh bétween cheque and bill of
exchange. :

wmmﬁﬁmmm@MI

Explaln dlfferent types oft E- banklng

- services prov1ded by commercial banks

aﬁm@wmﬂ«mﬁhim\ﬁw CRIT
WWWI | o

Brleﬂy explain the matenal alternauon
of a cheque and give example.

Wﬁﬁﬂﬂﬂ@ﬂmﬂaﬁaﬁquﬂ?
WWWI ‘

DlSCLlSS the provisions of the Banking =

Regulatlon Act, 1949 in regard to

. licensing of . bankmg compames ‘

- R @OTE @3 5585 T-TRNS (X

mwnﬁwawmﬁmwwwm

=

Wri-te in brief the. principle of sound
lending.

ﬂﬁwwmﬁﬂm

4 (Sem~6/CBCS) RE 1/2/3/G 16

4.

Answer any Jour of the followmg questions :

.(1n about 600 words each)

- ﬁzar/ms/ﬁ?r e B vl 3 (@lR5CT woo

10%4=40

o Wﬁw)

4 (Sem-6/CBCS) RE 1/2/3/G

(@

m

(<_:)-

Dtscuss the origin and development of

: modern bankmg in India.

SR TR @oﬁswemﬁw%
W 01

What are .different- typés of bank
account facilities available in a
commercial bank?. State special
features of each one. . 2+8=10

o wﬁm@wwﬁ%ﬂwwﬁmﬂqq

ﬁsﬁwmhﬁ’@}mmwu

DlSCUSS different types of bank loan
’ granted to a customer by a commercial
~ bank. Also state relative merits and

demerlts

W@%W o T4 R o
wmwwlwmaﬁmm

‘Wﬁﬁwﬁﬂm‘

17 . Contd.



(d) What do you mean by endorsement" I (h) What is non-performing asset ? How is

~ Explain dlfferent types of endorsement. , it managed bY banks? Explain.

|  3+7=10 o i 347=10
| Wc@qﬁmﬁgm ?ﬁr—,,www '- - Wwwﬁmﬁs ?@\wmmﬂm
T | [ Wwvmmn L

(e) What do you mean by investrrient of
" fund by a banking company ? Discuss
the. ptinciples followed' by banking 3
company for proﬁtable investment of ] L -
funds. - " 4+6=10 | o I
‘ @\ﬁw@wﬁamﬁﬁwam%qm? S
| eroETe REGEIR A @RR QAN P - R P
=t ARTR S L ‘ L AR

() Whatdo you mean by collectmg banker ?
Discuss the duties and responsibilities
of collecting banker. . : 3+7=10"

. AR @@ﬁqﬁm%{@ ? FRAZFIN @R
WWWWWWI

(9) Explain- the _pOwers of the RBI in
controlling and regulating the activities
of Indian banking companies. |

. SRS IR TR e R o
qﬁwm@wﬂaﬁw @ HIOR
ﬁmanwnWI ' -

' 4 (Sem-6/CBCS)RE 1/2/3/G 19 7 Contd.
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OPTION-C
( Management Accounting ) -
_ Paper : COM_RE—6036

1. Answer the followmg quesuons as directed :

.

@

(b)

1x10=10
wﬁwﬁmm@m@mﬁm '

Management accountmg aims at
providing decisions to the management.
' (State: whether the statement

is true or false)

wﬂmﬁmmquﬁwww

maﬁaﬂw@f@aﬁrwmwam)

Financial statements are

| (i) estimates of facts

i ©Y
(iil anticipated facts
I ETk IR

| (iii) recorded facts

RS oY -

4+ (Sem-6/CBCS) RE 1/2/3/G 20

(d) Standard cost is'a

() Liquid- ratio is also known as

(i) Allof the above -

i eﬂaavﬁﬁﬁzﬁ
(Choose the correct answer)

(u% “ﬁ;w%t i Sieredt) -

{c) Marglnal costlng is a techmque of cost
. control (State whether the statement

is true or false)

aﬁéﬁvﬁﬁﬁrmﬂﬁhmwaéﬁtéﬁﬁﬁn .
(@‘mewac‘mf)

cost.
(Fill in the blank)

R TR am ?IFH (?Ilfﬁé??ﬁ‘TW)

(e) When actual cost is greater than

standard cost, ‘then variance is
favourable. (State whether the statement -
’ ' - is true or false)

e arqrmwwet@@,t@%m
f_sl"f (varlance) I A o
(@—@zﬁr &% (98T (PRI

(Fill in. the blank)

wwvnﬁi'_»_{ﬁ\ﬁwml
- (ﬁﬁﬁw

4 (Sem-6/CBCS)RE 1/2/3/G 21  Contd.




(g) Contnbutlon is the dlfference between
" sales and . _ costs. (Fdl in the blank)

- __aﬁﬁmaﬁfi@%m__mwmwn
S (W AR 9 )
(h) "Flex1ble budgets change with the level

of actmty (State whether the statement
. is true or false)

%ﬁWW?’I@WWW?ﬂ R}
’ (@WG%‘WWEI@WI)

(i)". What is act1v1ty ratlo ?
R TS & e

G) What is -angle of incidence ?

W@Mﬁw

_ 2 - Answer the following questions: 2x5=10

(a) Write any two features of managerrient '

accounting.

- TR IR @hﬂﬁlﬁ’m

(b} -State twoadvantages of ratio analysie.

ST R 757 ke S < |

4 (Sem-6/CBCS) RE.1/2/3/G . 22

(d
e e 7 gwmw«n

 (e) What is break'-even pomt?

State the . meamng of materlal cost' '

vanance

ﬂwﬁwmm{%@ww:

Mentlon two objectwes of budgetary

controk

meﬁﬂzﬁw -

Answer any Jour of the following questlons

Sx4=20

Tﬁmmmwﬁmmwﬁmwm

(a)

(b)

{c)

4 (Sem-6/CBCS) RE 1/2/3/6 23

‘Mention. any five dlstmctmns between
cost accountmg and management'
accounting.

) m’r‘qmﬂwmmﬂmﬁmwﬁmw

vﬁ&ﬁrmﬂmwzﬁn

Mention ﬁve ob_]ectxves of ﬁnan(:lal

_statement analysis. -

mﬁhwﬁqﬁavﬁmmmaﬁn |

State ﬁve 11m1tat10ns of budget and
budgetary control

Eap

A C‘Qntd.

. i



d) Explain the possible causes for matenal ‘

price variance in standard -costing.
¥ SIRITS. Aw W f‘vﬂa HER)
WW W -

(e} Write a brief note on comparatlve

_statements. -

S 15510 9IS cﬂ‘m '031 (Ot T@WI
() The 1nformat10n of a c_ompany is given.

below : _
Current Ratio. =28 -
vfete Ssie
Acid Test Ratlo =15

ool opeire

| Working Caplta.l Rs. 1 62 000
G T

Find out: (ﬁ‘f?l 1) -
- () Current Assets
ofere e
(i) Current Liabilities
(iii) . Liquid Assets
o3&l @

4 (Sem-6/CBCS) RE 1/2/3/G 24

.

4. Answer the followmg questmns (any four)

- 10%4=40
-wﬁm«wm (ﬁmmwﬁ?r) |

. (a) Explaln thé nature and scope of
management accountmg

o TR0

" (b) The budgeted expenses “for productlon ,

of 10,000 umts in a factory are given

- below :
qo (FFR 10, ooo c'»“fﬁ E“QW AR ii?a
W Eicg W‘I’Z wers fit 'i‘c"{ 3 4
ST > i Rs. per unit’

. Ma’terials(?{‘fl 7!1‘@ ) 70 o
Labour @f® 7. 25 |
Variable overheads S 20

R sRfe ﬂ]‘l R
Fixed overheads (Rs 100 OOO) 10
7 SfeRe I (100,000 51 )
| Administrative overheads
(10% variable) ' 20
i 3 ( 10% ARTSTR)
Contd.
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', .(c),

: Selhng overheads (20% ﬁxed) .6

Rem 1 (20% 7))
Dlstnbutlon expenses (10% ﬁxed) 4
Rowl (10% val‘?ﬁ)
‘Total cost: of sales | 155
- 3 Ren @ S
| Prepare a budget- for the productlon of |
12, 000 units. . T 10

12,000 B cm%awmmw%mwl

Followmg are thq mformatlon obtained

from the books of XYZ Ltd. :

o o SRR XYZ Lid aﬁm@a,ﬁi

TR (RS

' Fixed cost = Rs. 1 60, ooo

Sales (ﬁ?ﬂl) = Rs. 100 per. umt

A,_Vanable cost = Rs. 90 per umt
-qﬁaﬁam

Calculate (sm aar) o “'2x5=10' |
{) P/V ratio L

PV Ee

4(Sém-6/CBCS)RE 1/2/3/G 26

@

(ii) Break-even (s’ale‘s)‘-' S

&= T (Rem)

" (i) Break-even (unit‘s)' '

@ Bre (CD)
(iv) Sales to earn a profit of Rs. 40 000

4ooooWar—wﬁaat@ﬁm

: (v)‘, ‘Profit- when sales are

“Rs. 20,00, 000
4 'ﬂt— mf%mzoooooomﬁm@

From the followmg partlculars of Bxdyut |
Ltd., compute— ..
i) materla.l cost vanance,

(i) matenal pnce variance,

(iii) - material usage variancg, -
and state the managerlal use of
such variances.

- ﬁg;qﬁﬁz%mwﬁm:m RS

4 (Sem-6/CBCS) RE41/2A/3/6. A

) R T fomet,
(i) s W TS oo,
(ii) ﬂW@WW o

o 3000 units

C:ontd;



(e)

' Value of materials =~ .
purchased . Rs. 9,000.

AV T T -
Standard quantity of
materials required per ton

of output, .. = . .~ 25 units

- af%m%avnwmmm R
‘wmﬁmmﬁ -

- Standard rate of
. material . Rs. 2-50 per unit

'flvfw IR AT

”

Opening stock of
materials L 10 units

AT TN TGO -

Closing stock of materials 510 units
AUER AT TG |
Output dunng the penod : 75 tons
T foese et o

The following are the ratios relating to

the activities of a company :

T Al O 2 1 G o o
Stock velocity - 6 months
TGS AN aift

4 (Sem-6/CBCS)RE 1/2/3/G 28

2 months -

Creditofs" velocity
ofheAmiR oifr
Debtors], velacity ) = ‘ 1.:3 months
o o, |
Gross proﬁt rat1o = " 25%
pasT s

~ Gross profit for
theyear -~
TR o O |

~ Closing stock of the year is Rs. 10,000
above the openjng stock -

Rs. 4,00,000

Wmﬂ@a@z—wﬁw 10,000
o @fRr
 Bills receivable. =  Rs. 25,000
agRE | |
Bills payable = Rs. 10,000
Find out the following : 2x5=10 -
() sSales
Contd.
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(h) Explam different techmques of financial ’
statement analysis. '

ﬁ@zﬁgﬁﬁm«ﬁr@»mmmﬁ
[ c

- ') Purchases
(iii) Sundry él:editofs o
RRa oeAm -
(iv) Sundry debtors
. ARy cmmR
(v) Closmg stock
' snsﬁfﬁ frw 9y

(). What'is variance analysis ? Explain its = |
significance for managerial decision- - |

. making purpose. 4.6 10 |
‘Tomeon Roszd R ?wmﬁmmm‘
W@@WWW, .

(g) | Explam the followmg term | »,
B to marginal costmg s .1n gelg’ilcl)g

(l). Cost volume proﬁ ¢ analysls A
IR e, FﬂB ﬁam
(W Margm of safety -

.ﬁmﬂ@aﬁﬂmﬁ
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